--> a=[1,-0.84;-0.84,1.96]
a =
1. -0.841
- 0.84 1.96 1!
--> av = inv(a)
av =
1.5625
0.6696429
--> [r] = chol(av)
r =
1.25 0.5357143 1
0. 0.7142857 1
--> chkl = r*a*r*
chkl =
1.
I - 6.185D-17 1.
--> phl= [0.6,0.4;-0.2,0.8]
phl =
0.6 0.41
- 0.2 0.8 !
-=>rv=inv(r)
rv =
0.8 -0.61
0. 1.4 1
-->rvph=phl*rv
rvph =
0.48 0.2 1
- 0.16 1.24 1
-->chk3=r*rv
chk3 =
1. - 2.223D-17 !
0. 1. !
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- 8.054D-18 !

0.6696429 1!
0.7971939 1

--> b=[1.96,-0.84;-0.84,1]

b =

1 1.9 -0.84"1

1 -0.84 1. 1

--> bv = inv(b)

bv =

I 0.7971939 0.6696429 1!
I 0.6696429 1.5625 !
--> [q] = chol(bv)

q =

I 0.8928571 0.75 1!

1 0. 1. 1

--> chk2 = g*b*q"

chk2 =

1. 8.104D-17 1!
! 8.104D-17 1. !
--> ph2 = [0.8,-0.2;0.4,0.6]
ph2 =

1 0.8 -0.21!

1 0.4 0.6 !
-->qv = inv(Q)

Qv =

1 112 -10.84"!

1 0. 1. 1
-->qvph = ph2*qv

quph =

I 0.89%6 - 0.8721

1 0.448 0.264 !
-->chk4=g*qv

chk4 =

1. - 1.811D-17 !
1 0. 1. !



